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Jbra® Find Unknown Side Lengths
Al

wn side length is a side that doeg
i un peled with @ number. Instead the g
endt 5 mbol or letter, such as a.
+h @
with

erimeter of the shape is 20 meters.

not have jtg
de is labeled

gm 6 m
T.heﬁhe value of a. :
Fin . There is only one unknown side length, %
pinf: :
T 4 Add the known side lengths.
02 gubtract the sum of the known side lengths from the perimeter.
ste

20-15=5

Add to check your work.

3
step 64+9+5=20/

5o, the unknown side length, a, is 5 meters.

the perimeter of the square is 12 feet.

x ft
what is the length of each side of the square?
Think: A square has four sides of equal length. xf i
. ft
step 1 Divide the perimeter by the number of sides. *
12+4=3

Step 2 Multiply to check your work.
4x3=12/

S0, the length of each side, x, is 3 feet.

find the unknown side lengths.

1. Perimeter = 18 centimeters 2. Perimeter 2Onyyd
6 cm
5 3cm nyd e
5cm nyd
" ds
e, Centimeters il ol
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Lesson Iy

Name Reteach
Understand Area
A unit square is a square with a side length of 1 unit. Area
is the measure of the number of unit squares needed 1o
cover a surface. A square unit is used to measure area.
What is the area of the shape?
° [ ] o
Step 1 Draw lines to show each unit square in the shape.
L 1 o
Step 2 Count the number of unit squares to find the area. |
1
The area of the shape is 3 square units.
Count to find the area of the shape.
1. L] L] L e e 2. L] ° ° o ° 3. ° ° ° ° °
° o ° e L4 (&3 ‘:‘ R ° :.;ﬂ > e

Area = square units  Area = _ square units Area = square units
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Lesson I1.5
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qhink: How many unit squares are needed to cover this flat surface?

1 Use 1-inch square tiles. Cover the surface of the shape with the tj
Step Make sure there are no gaps (space between the tile?s)_ he tiles.
Do not overlap the tiles.

Step 2 Count the tiles you used.
5 tiles are needed to cover the shape.

%, the area of the shape is 5 square inches.

P

tount to find the area of the shape.
kch square is 1 square inch.

{1.

|

its

Afea =
———sSquare inches

Wity
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Name Lesson 1.6 l
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Use Area Models
Use mul?iplication to find the area of the shape. \\
Each unit Square is 1 square meter.

Step 1 Count the number of rows.

Step 2 Count the number of unit
There are 6 rows.

squares in each row. There
are 10 unit squares.

112(3|4|5]|6|7]|8]|20

NEINEINE

i

Step 3 Multiply the number of rows by the
number in each row to find the area.

number of rows X number in each row = area

6 X 10 = 60
So, the area of the shape is 60 square meters.

Find the area of the shape.
Each unit square is 1 square meter.
1.
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¥ golving ° Area of Rectangles

oble™

f wants to plant a garden, so she 2% o
W"Sonfor some sample gardens. She wans 26t T

Mﬁv'v plgnS the areas of the gardens are J S 2t

drino‘” ho‘:’v"wi“ the areas of Gardens A anq ——

0 ed. HO ill the areas of Gardens C ang i 3t
e w WI

o ge? HO [ R
ang g

gﬁﬁﬂ”ge? & 4ft
j graphic organizer to help you solve the

st

oblem:

f Read the Problem
———— — Troblem L1
tdo | need to find? | What information do | How will | use the

yha need to use? information?
e 10 know how the
n

a1eas will change from
Mo B and from

| need to use the I will record the areasin a

len gth Beo: table. Then I will look for

. a pattern to see how the
Coll. width Sgen areas change.
il garden to find its area.

e LD P AT RS

Solve the Problem

barden A 2 ft 6ft |[12sqft|GardenC 2 ft 3t 6 sq ft

brden B 4t 6t [24sqft|GardenD 4 ft 3 ft 12 sq ft

fom the table, | see that the lengths will be doubled and
e widths will be the same.

The areas in square feet will change from 12 to 24 and from 6 to 12

%,the area will be dOUbIed

Solve,

W Mrs. Rios made a flower garden that is 8 feet long and
feet wide, She made a vegetable garden that is 4 feet
"9and 2 feet wide. How do the areas change?

\
by \
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Lesson I1.8
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Area of Combined Rectangles

You can break apart a shape into rectangles to
find the total area of the shape.

Step 2 Count the number of unit

Ste i
p 1 Draw a line to break apart the squares in each rectangle.

shape into two rectangles.

1 3
6
8 3|24
oln|2|s|6] 7|8
12 8

Step 3 Add the number of unit squares in each
rectangle to find the total area.

12 + 8 = 20 unit squares

So, the area of the shape is 20 square units.

Draw a line to break apart the shape into rectangles.
Find the area of the shape.

1. 2,
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crimeter; Different Areas

Lesson I1.9
Reteach

\

erimeter and area to compare rectangles

e
5af" . _
Can usé %
yo! perimeters of Rectangle A and Rectangle B.

Find the number of units around each rectangle.
Rectangle A:3 + 2 + 3 + 2 = 19 units
Rectangle B:4 + 1 + 4 + 1 = 1 units
Compare: 10 units = 10 units

So, Rectangle A has the same perimeter as Rectangle B.

EEEL]

So, Rectangle A has a greater area than Rectangle B.

re the areas of Rectangle A and Rectangle B,

compa
Find the number of unit squares needed to cover
A each rectangle.
E} Rectangle A:2 rows of 3 =2 x 3 org square units
B Rectangle B: 1rowof 4 = 1 x 4, or 4 square units

Compare: 6 square units > 4 square units

findthe perimeter and the area. Tell which

tlangle has a greater area.

f, A B

UERYE

A Perimeter —

BADR

A: Perimeter =
Areg =
K Area =
B: Payi
Meter = —— e ! B: Perimeter =
Afea =
R e Area =
eCtan
Jle ——has g reater ectanqle has a greater area.
: g area. R g
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Same Area, Different Perimeters

_I:_lnd thfa perimeter and area of Rectangles A and B.
ell which rectangle has a greater perimeter.

Step 1 Find.the area of each rectangle. You can
multlply the number of unit squares A
in each row by the number of rows.

Rectangle A: 2 X 6 = 12 square units
Rectangle B: 3 X 4 = 12 square units .

Step 2 Find the perimeter of each rectangle.
You can add the sides.

Rectangle A:6 + 2+ 6 +2 = 16 units

Rectangle B:4 +3 +4 +3 = 14 units

Step 3 Compare the perimeters. 16 units > 14 units.

So, Rectangle A has a greater perimeter.

Find the perimeter and the area. Tell which
rectangle has a greater perimeter.

1 : 2
: A
A —
B
-
A: Area = ; A: Area = . S
Perimeter = Perimeter = ekl
B: Area = B: Area = LA B
pPerimeter = Perimeter = S8
has a greater perimeter. | Rectangle has a greater perimeter:

Rectangle ——
Doz Grade 3



